
• Lösung zu Aufgabe 4)a) aus dem Aufgabenblock 2:
GEBNF = ({S, T, U, V }, {w,=, .,′ |′, (, ), {, }, [, ],′′ }, P, S) wobei P = {S →
w = T.|w = T.S, T → T ′|′U |U,U → UV |V, V → (T ) | {T} | [T ] | ′′w′′ |w}

• Lösung zu Aufgabe 4)b) aus dem Aufgabenblock 2 (w gilt wieder als Ter-
minalsymbol):
Regelmenge = Wort ′′ = ′′ Regel ′′.′′{Wort ′′ = ′′ Regel ′′.′′}.
Regel = Term {′′|′′ Term}.
T erm = Faktor {Faktor}.
Factor = (′′{′′ Regel ′′}′′) | (′′[′′ Regel ′′]′′) | (′′{′′ Regel ′′}′′) | ′ ′′ ′ Wort ′ ′′ ′ |Wort.
Wort = ′′w ′′.
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